
$GGLQJ :KROH 1XPEHUV
3DORPDU &ROOHJH

����

2EMHFWLYHV

ȕ ,QWURGXFH VSHFLILF YRFDEXODU\
ȕ'HILQH SURSHUWLHV RI DGGLWLRQ
ȕ/HDUQ KRZ WR XVH FDUU\LQJ WR DGG
ȕ/HDUQ KRZ WR XVH QXPEHU OLQHV WR DGG

$GGLQJ WZR QXPEHUV LV ILQGLQJ RXW KRZ PDQ\
WKHUH DUH LQ WRWDO DIWHU FRPELQLQJ WZR QXPEHUV�
)RU H[DPSOH�

,I ZH FRPELQH � FLUFOHV ZLWK � FLUFOHV� ZH QRZ
KDYH � FLUFOHV LQ WRWDO� 4 DQG 3 DUH FDOOHG WKH
DGGHQGV DQG 7 LV FDOOHG WKH VXP�

3URSHUWLHV RI $GGLWLRQ

ȕ$GGLWLYH ,GHQWLW\ 3URSHUW\�
$GGLQJ ]HUR WR D QXPEHU GRHV QRW FKDQJH
LW�

0 + 3 = 3 DQG 3 + 0 = 3

ȕ&RPPXWDWLYH 3URSHUW\ RI $GGLWLRQ�
&KDQJLQJ WKH RUGHU RI WKH DGGHQGV GRHV QRW
FKDQJH WKH VXP�

3 + 4 = 7 DQG 4 + 3 = 7
ȕ$VVRFLDWLYH 3URSHUW\ RI $GGLWLRQ�
:KHQ DGGLQJ WKUHH QXPEHUV� \RX PD\ DGG
WKH ILUVW WZR QXPEHUV WRJHWKHU DQG WKHQ DGG
LQ WKH WKLUG RU \RX PD\ VWDUW E\ DGGLQJ WKH
ODVW WZR QXPEHUV WRJHWKHU DQG WKHQ DGG LQ
WKH ILUVW� %RWK ZLOO JLYH \RX WKH VDPH UHVXOW�

(2 + 1) + 5 = 3 + 5 = 8

2 + (1 + 5) = 2 + 6 = 8

8VLQJ &DUU\LQJ WR 6LPSOLI\ WKH $GGLWLRQ 3URFHVV

:KHQ QXPEHUV DUH ODUJH ZH DGG E\ SODFH YDOXH WR PDNH LW HDVLHU� :H VWDUW E\ DGGLQJ WKH RQHV SODFH�
WKHQ WKH WHQV SODFH� DQG VR RQ� )LUVW ZH WU\ WKLV E\ ZULWLQJ WKH QXPEHUV RXW LQ H[SDQGHG IRUP�

15, 678 + 7, 784= (10, 000 + 5, 000 + 600 + 70 + 8) + (7, 000 + 700 + 80 + 4)
=10, 000 + (5, 000 + 7, 000) + (600 + 700) + (70 + 80) + (8 + 4)
=10, 000 + 12, 000 + 1, 300 + 150 + 12
=23, 462

:H FDQ DOVR GR WKLV YHUWLFDOO\ E\ SODFLQJ WKH
QXPEHUV RQ WRS RI HDFK RWKHU DQG DGGLQJ GLJLWV
ZLWK WKH VDPH SODFH YDOXH GRZQZDUGV�

1 5, 6 7 8
+ 7, 7 8 4

1 2
1 5 0
1, 3 0 0
1 2, 0 0 0
+1 0, 0 0 0
2 3, 4 6 2

+RZHYHU� WKH PRVW FRPPRQ DQG FRPSDFW ZD\
WR GR WKLV LV WR D SURFHVV FDOOHG FDUU\LQJ� ,Q WKLV
SURFHVV \RX EULQJ MXVW WKH ILUVW GLJLW GRZQ ZKHQ
DGGLQJ DQG WKHQ FDUU\ WKH UHVW RI WKH QXPEHU WR
WKH WRS RI WKH QH[W SODFH YDOXH�

1
1
1
5,
1
6
1
7 8

+ 7, 7 8 4
2 3, 4 6 2

([DPSOHV ZLWK 1XPEHU /LQHV

8VH WKH QXPEHU OLQH WR ILQG WKH VXP�

D� 6 + 2

E� 3 + 3

([DPSOHV ZLWK &DUU\LQJ

$GG XVLQJ FDUU\LQJ�

/HWȍV 7U\ ,W

8VH WKH QXPEHU OLQH WR ILQG WKH VXP�

D� 3 + 6

E� 4 + 1

F� 2 + 5

/HWȍV 7U\ ,W

$GG XVLQJ FDUU\LQJ�

$GGLQJ ZLWK 1XPEHU /LQHV

:H FDQ XVH QXPEHU OLQHV WR KHOS ILQG VXPV�
:H VWDUW DW ]HUR DQG PRYH WR WKH ULJKW IRU HDFK
DGGHQG� ,QVWHDG RI WKLQNLQJ DERXW FRXQWLQJ
REMHFWV� ZH FDQ WKLQN RI WRWDO GLVWDQFH WUDY�
HOHG�

3UDFWLFH

�� ,GHQWLI\ ZKDW SURSHUW\ LV EHLQJ XVHG�
D� 115 + 500 = 500 + 115

E� (2 + 3) + 5 = 2 + (3 + 5)

F� 28 + 0 = 28

G� (1 + 3) + 7 = (3 + 1) + 7

��8VH WKH QXPEHU OLQH WR ILQG WKH VXP�
D� 1 + 2

E� 2 + 4

F� 5 + 3

��$GG�
D� 28 + 0

E� (2 + 3) + 5

F� 115 + 500

G� 1 + (3 + 7)

H� 1, 259 + 742

I� 12, 579 + 10, 351

J� 78, 987 + 8, 274

K� 852, 976 + 148, 037



Adding Whole Numbers
Answers to Practice

1. Identify what property is being used.

(a) 115 + 500 = 500 + 115
commutative property of addition

(b) (2 + 3) + 5 = 2 + (3 + 5)
associative property of addition

(c) 28 + 0 = 28
additive identity property

(d) (1 + 3) + 7 = (3 + 1) + 7
commutative property of addition
(The grouping did not change, 1 + 3
changed to 3 + 1.)

2. Use the number line to find the sum.

(a) 1 + 2

0 1 2 3 4 5 6 7 8 9 10

1 + 2 = 3

(b) 2 + 4

0 1 2 3 4 5 6 7 8 9 10

2 + 4 = 6

(c) 5 + 3

0 1 2 3 4 5 6 7 8 9 10

5 + 3 = 8

3. Add.

(a) 28 + 0 = 28

(b) (2 + 3) + 5 = 5 + 5 = 10

(c) 115 + 500

+

1 1 5
5 0 0
6 1 5

(d) 1 + (3 + 7) = 1 + 10 = 11

(e) 1, 259 + 742

+

1,2 5 9
7 4 2
7 4 3,2 5 9

(f) 12, 579 + 10, 351

+

1 1

1 2,5 7 9
1 0,3 5 1
2 2,9 3

(g) 78, 987 + 8, 274

+

1 1

7 8,9 8 7
1 0,3 5 1
8 9,3 3 8

(h) 752, 976 + 148, 037

+

1 1 1 1 1

7 5 2,9 7 6
1 4 8,0 3 7
9 0 1,0 1 3
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